Economics 210 



NAME:____________________________

Exercises to Accompany Chapter 10. 

Due: _________________

Refer to Excel Workbook titled “Mankiw10_externality.xls”.

Refer to Worksheet titled “Free Market Equilibrium” (Mankiw Fig. 10-1).
1.
If demand reflects the marginal value of this good and supply reflects its marginal cost, explain why the equilibrium quantity is efficient?

Refer to Worksheet titled “Negative Production Externality” (Mankiw Fig. 10-2)

2.
Use the scroll bar to change the external cost per unit sold.  The initial external cost is 40.   New external cost is ________________.

If Q remains at the equilibrium quantity, what happens to consumer surplus?  to producer surplus?  Total (combined) surplus? Remember that now three groups must be considered: consumers, producers, and the rest of us. 

What is the new efficient quantity? Why is that quantity efficient. (Say more than “That’s where marginal cost equals marginal value.”)

Refer to Worksheet titled “Tax on Production”.

3.
Keep the external cost per unit sold at $40. Use the scroll bar to change the tax per unit sold.  The initial tax is  20 .  The new tax is ________________.

What happens to consumer surplus?  Producer surplus?  Total (combined) surplus?


What is the optimal tax (the tax that maximizes combined net surplus and tax revenue)?


Which is better, a tax of zero (no response) or a tax of $120? Explain (better in what regard?).

Refer to Worksheet titled “Positive Production Externality” (Mankiw Fig. 10- 3)

4.
Use the scroll bar to change the external benefit per unit sold.  The initial external benefit is  40 .  The new external benefit is ________________.

If Q remains at the equilibrium quantity, what happens to consumer surplus?  Producer surplus?  Total (combined) surplus? 

What is the new efficient quantity? Explain why this quantity is the efficient one.

Refer to the worksheet titled “Subsidy for Production”

5.
Keep the external benefit at $40 per unit. What is the optimal subsidy (the subsidy that maximizes net combined surplus?


Compare the results of setting the subsidy at zero (no subsidy at all) with the results of setting the subsidy at $120 per unit.

Refer to Worksheet titled “Negative Consumption Externality” (Mankiw Fig. 10-4)

6.
Use the scroll bar to change the external cost per unit sold.  The initial external cost is  40. The new external cost is ________________.

What is the efficient quantity given the external cost you chose? Explain.

Refer to Worksheet titled “Positive Consumption Externality” (Mankiw Fig. 10-4)

7.
Use the scroll bar to change the external benefit per unit sold.  The initial external benefit is  40.  The new external benefit is ________________.

What is the new efficient quantity? Explain.

Refer to Worksheet titled “Demand for Pollution Rights” (Mankiw Fig. 10-5)

8.
In what sense is a level of pollution equal to 24 units optimal?

Refer to Worksheet titled “Pigouvian Tax on Pollution” (Mankiw Fig. 10-5)

9.
Use the scroll bar to change the tax. The initial tax is $24 . The new tax is ___________. At this tax rate ___________ units of pollution will be produced. Explain.

What is the optimal tax (a tax that maximizes net social value)? Do you have enough information to answer this question?  What is missing?

Refer to Worksheet titled “Tradable Pollution Permits” (Mankiw Fig. 10-5)

10.
What is the optimal allowable quantity of pollution (a quantity that maximizes net social value)? Explain what “optimal” means.

How long did it take you to finish this exercise set?

Please rate its difficulty.  Circle one of the numbers on the scale below
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Extremely easy






extremely difficult

Please rate its clarity.  Circle one of the numbers on the scale below
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Extremely clear






extremely confusing

Please suggest ways to improve the exercise set, in terms of either clarity or content. 
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